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From the homework:

3) A certain amusement park ride consists of a large rotating cylinder of radius R = 2.85 m. As the cylinder
spins, riders inside feel themselves pressed against the wall. If the cylinder rotates fast enough, the
frictional force between the riders and the wall can be great enough to hold the riders in place as the floor
drops out from under them. If the cylinder makes 0.570 rotations per second, what is the magnitude of the
normal force FN between a rider and the wall, expressed in terms of the rider\'s weight W?
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4) A 5.41-kg ball hangs from the top of a vertical pole by a 2.11-m-long string. The ball is struck, causing it
to revolve around the pole at a speed of 4.29 m/s in a horizontal circle with the string remaining taut.
Calculate the angle, between 0° and 90°, that the string makes with the pole. Take g = 9.81 m/s2.
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Muddiest Points:

1) Friction:

a) Static vs kinetic friction
b) How to solve for mu

c) Using friction and static friction
2) Incline problems:

a) Sin vs cos

b) When does Fnet =0

c) How to use Fx = ma and Fy = ma

b) FBD for circular motion

3) Circular motion
a) Acp =v~2/R what are vand R 7
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